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P(x y) BESR (1 1)HED (xy) WEEH.
L BESHHRFE xeN, P(x 1)=1.
2. BEBHERNAE xeN, P(X, 2)=2x.

(a) 5 P(L 2)=P(L 1)+P(2 1)=2.

(b)®&E4A P(n,2)=2n, &

P(n+1 2)=P(n, 2)+P(n+1 1)+ P(n+2, 1)=2(n+1)
HEHBBRWESEE.
3. BEBERPHRAAE xeN, P(x 3)=2x(x+2).
(a) B4 P(1, 3)=P(L, 2)+P(2, 2)=2+4=6=2x1x3,

(b) A P(n 3)=2n(n+2), A

P(n+1 3)=P(n, 3)+P(n+1 2)+P(n+2, 2)
=2n(n+2)+2(n+1)+2(n+2)

=2(n+1)(n+1+2)
WMHEEERWNESRE.,
4. BEBPHRAE xeN, P(x, 4) %x(Z x+3)’ )

(a) 54 P(L 4)=P(1, 3)+P(2, 3)=6+16= 22_3 x(2x4? +1).
(b)&E& P(n, 3 _gn(z n+3) ) 8l

P(n+1 4)=P(n, 4)+P(n+1 3)+P(n+2, 3)

2

:gn(z(n+3)

= 2(n+)(2(x+4)"+1)

+1)+2(n+1)(n+3)+2(n+2)(n+4)



HHABERWEER, Elt

P(101, 4) =§x101x(2x(101+ 3)°+1)
— 1456622
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